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(Chebyshev’s inequality)

V(X)

P(|X — E(X)| > k) < k>0

= T2
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(Markov’s inequality)
P(X >a) < 2E[X] for any a > 0
(Jensen’s inequality)
Eh(X)] = h(E[X])  h(z)

(Holder’s inequality)
E[|XY] < (E[IX|PDY? (E[Y]7])"*
for any p,q > 0 such that 1/p+1/q¢ =1

p=q=2
(Schwarz’s inequality)



o, o 6 (0,1)

(convex function)

T(0a+ (1= 6)a’) < 6J(a) + (1 — 0)J ()

J ()]

E 0J(a) + (1 —6)J(a")




(2



/3

(uniform distribution of continuous
type)

[ L (fora <z <b)

—a
0 (otherwise)

(a,b) Ua,b)




(inverse transform sampling)

f(x)
1. u~U(0,1)
0. v=F"tu) f(z)

/4
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u~ U(0,1) Fx)
U v=F"'(u)
T g i

v~ F(x)

/5
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P(v<e¢c)=P(F tu)<c) v=F'(u)
=Pu<F(c)) a<b= F(a)< F(b)
= P(0 <u < F(e)) u~U(0,1)
= F'(c)

F(b) F(x)
F(a)
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(rejection sampling)

f(z)

a, 0]
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http://www.csc.titech.ac.jp/

OCW
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